Appendix B
Diagrams of Procedure for Construction of the Imputed Variables
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Group 1. Respondent’s Total
Income Components
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Group 1. Family help income.

Gl19 1
- Start=gl17_12
No (2,.)
NR (8) / DK (9) Response to
receives source ImAm=0
J/ of income
Mixed
imputation Yes (1)
Then ——>  ImAm=0
Low=0,
Up=Max
RF/DK in exact
amount and Response to
i ] _IhSn_M brackets amount Exact amount: 619 1_monthly
o gld_12 12 ImAM=YYY
ImMAm=YYY
ImAmM=YYY monthly?

RF/DK in exact amount

Then use Brackets
g20 1 12,g21 1 12

ImMAmM=YYY
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Group 1. Family help income.
G19_2-G19 7

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=1, Up=Max
ImMAmM=YYY

Start=gl7_12

}

Response to
receives source
of income

Yes (1)

NR/DK in exact

amount and brackets

(*) Response to
amount

g19 2 2 12

To

g19 7.2 12

monthly?

RF/DK in exact
amount

Then use Brackets
g20 2 12tog20 7 12,
g21 2 12tog21 7 12

ImAmM=YYY

No (2, .8,9,. )

SE— ImAmM=0

Exact amount
——>

Missing ( . )

ImAm=0

G19_2_monthly to

G19_7_monthly
ImMAmM=YYY
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Group 1. Business income-1

K11 1 Start=k1_12
NR (8) / DK (9
(8) / DK (9) No(2)
Response
l/Yes (1)
Then
NR (8) / DK (9 !
(8) / DK (9) k101 12 No(2)
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k11 1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k12al_12, ki12b1l_12,
ki12cl_12

ImAm=YYY

ImAmM=0

ImMAmM=0

ImMAmM=YYY
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Group 1. Business income-2
K11 2

v

Mixed

imputation
Then —>

Low=0,
Up=Max

!

ImMAmM=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

NR (8) / DK (9)

ImAm=0

Start=k1_12

|

Response

l/Yes (1)

Then,
k10_2_12
Response

No (2,8,9)

ImAmM=0

No(2,.)

ImMAmM=0

Yes (1)

NR/DK in exact

amount and
Then brackets (*)
%

Low=1, Up=Max
ImAmM=YYY

Response to
amount
k11 2_12?

Exact amount

—> ImMAmM=YYY

RF/DK in exact
amount

Then use Brackets:
k12a2_12, k12b2_12,
k12c2_12

ImAm=YYY
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Group 1. Business expenditure-1

K13 1 Start=k1_12
NR (8) / DK (9
(8) /DK (9) No (2)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=0, Up=Max & amount ——————>
ImAm=YYY ImAm=YYY k13 1 12?

RF/DK in exact
amount

Then use Brackets:
kl4al_12, k14b1l 12,
kl4cl 12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAm=YYY

ImAmM=0

ImAmM=0, YYY
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Group 1. Business expenditure-2

K13_2

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=0, Up=Max
ImMAm=YYY

Start=k1_12

|

Response

\L Yes (1)

Then,
kla_12
Response

(1)

NR/DK in exact

amount and
brackets (*) Response to
< amount

k13_2_12?

RF/DK in exact
amount

Then use Brackets:
k14a2_12, k14b2_12,
k14c2_12

ImMAmM=YYY

No(2,8,9)

(2)

Exact amount
>

ImAmM=0

ImAm=0

ImAmM=0, YYY
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Group 1. Business profits-1

K15 1 Start=k1_12
NR (8) / DK (9
(8) / DK (9) No(2)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=0, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k15 1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
kil6al_12, kiebl 12,
kiecl 12

ImAm=YYY

ImAmM=0

ImAmM=0, YYY
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Group 1. Business profits-2

K15_2

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=0, Up=Max
ImMAm=YYY

Start=k1_12

|

Response

\L Yes (1)

Then,
kla_12
Response

(1)

NR/DK in exact

amount and
brackets (*) Response to
% amount

k15_2_12?

RF/DK in exact
amount

Then use Brackets:
k16a2_12, ki6b2_12,
ki6c2_12

ImMAmM=YYY

No(2,8,9)

ImAmM=0

(2)

ImAm=0

Exact amount
—> ImAm=0, YYY
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Group 1. Property rent income-1

K27 1 Start=k17_12
NR (8) / DK (9
(8) / DK (9) No(2)
Response
l/Yes (1)
Then
NR (8) / DK (9 !
(8) / DK (9) k26 1 12 No(2)
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAM=YYY ImAmM=YYY k27_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k28a1_12, k28b1_12,
k28c1_12

ImAm=YYY

ImAmM=0

ImMAmM=0

ImMAmM=YYY
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Group 1. Property rent income-2

K27 2 Start=k17_12
Response
l/Yes (1)
J/ Then
NR (8) / DK (9 !
(8)/ ) k26 2 12
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to
Low=1, Up=Max < amount
ImAm=YYY ImAm=YYY k27_2_12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k28a2_12, k28b2_12,
k28c2_12

ImAm=YYY

No(2,8,9)

ImAmM=0

No(2,.)

ImMAmM=0

Exact amount
—> ImMAmM=YYY
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Group 1. Property expenditure-1

K29 1 Start=k17_12
NR (8) / DK (9
(8) / DK (9) No(2)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=0, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k29 1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k30a1_12, k30b1_12,
k30c1_12

ImAm=YYY

ImAmM=0

ImAmM=0, YYY
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Group 1. Property expenditure-2

K29 2

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=0, Up=Max
ImMAm=YYY

Start=k17_12

|

No (2,8, 9)
Response ImAmM=0
\L Yes (1)
Then,
kl7a_12 (2) ImAm=0
Response
(1)
NR/DK in exact
amount and
brackets (*) Response to Exact amount
< amount EEEE— ImAm=0, YYY
k29 2 12?

RF/DK in exact
amount

Then use Brackets:
k30a2_12, k30b2_12,
k30c2_12

ImMAmM=YYY
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Group 1. Capital assets income-1

K36 1-3 Start=k31a_12
Ex. K36 1 i
NR (8) / DK (9
(8) / DK (9) No(2)

Response

l/Yes (1)

Then
NR (8) / DK (9 !
(8) / DK (9) 35 1 12 No(2)
_ Response
Mixed
imputation
Then —>  ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>

ImAm=YYY ImAm=YYY k36_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k37a1_12, k37b1_12,
k37c1_12

ImAm=YYY

ImAmM=0

ImMAmM=0

ImMAmM=YYY
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Group 1. Own earned income-1-4

K47a, 48a, 50a, 51a Start=k47_12
Ex. k47a L
NR (8) / DK (9
(8) / DK (9) No(2,.)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————>
ImAmM=YYY ImMAm=YYY k47a_12?

RF/DK in exact
amount

Then use Brackets:
k47b1_12, k47b2_12,
k47b3_12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAm=YYY

ImAmM=0

ImMAmM=YYY
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Group 1. Own pension income-1-4

K61a-d Start=k58a_12
Ex. k61a i
NR (8) / DK (9
(8) / DK (9) No(2,.)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k61 1 12?

RF/DK in exact
amount

Then use Brackets:
k62al_12, k62b1_12,
k62c1_12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAm=YYY

ImAmM=0

ImMAmM=YYY
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Group 1. Own transfer income-1-3

K80a-c Start=k79a_12
Ex. k80a i
NR (8) / DK (9
(8) /DK (9) No(2,.)
Response ImAmM=0
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
l/ NR/DK in exact
Then amount (*) Response to Exact amount
Low=1, Up=Max SSE— amount ——————> ImMAmM=YYY
IMAm=YYY ImAm=YYY k80_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc
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Group 2. Spouse’s Total
Income Components
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Group 2. Spouse’s earned income-1-4

K53a, 54a, 56a, 57a monthly Start=k52b_12
Ex. k53a L
(.)
Response NOT impute

l Go (1,2,8,9)

NR (8) / DK (9) k53_12 No(2,.)
- ImAm=0
\L Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————> ImMAmM=YYY
ImAm=YYY ImAmM=YYY k53a_12?

RF/DK in exact| Brackets
amount

Then use Brackets:
k53b1_12, k53b2_12,
k53b3_12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAm=YYY
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Group 2. Spouse’s pension income-1-4

K67c-f Start=k52b_12
Ex. k67c i
(.)
Response NOT impute

l Go (1,2,8,9)

NR (8) / DK (9) K64c_12 No (2 )
ImAmM=0
\L Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————> ImMAmM=YYY
ImAmM=YYY ImAmM=YYY k67_1_127?

RF/DK in exact
amount

Then use Brackets:
k68al_12, k68b1_12,
k68cl_12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAm=YYY
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Group 2. Spouse’s transfer income-1-3
K83c-e
Ex. k83c

Start=k52b_12

|

Response NOT impute
l Go (1,2,8,9)
NR (8) / DK (9) K82c_12 No(2)
ImAmM=0
\L Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
l/ NR/DK in exact
Then amount (*) Response to Exact amount
Low=1, Up=Max SSE— amount ——————> ImMAmM=YYY
IMAm=YYY ImAm=YYY k83_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc
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Group 3. Components of Individual
(or Couple) Total Net Worth and
Household Consumption
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Group 3. Total debt mortgages/loans
126

Then

Low=0, Up=Max

ImMAm=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

Start=j25 12

|

No debt (1, .)

Response

Debt (2-9)

NR/DK in exact

amount and
brackets (*) Response to Exact amount
< amount —>
j26_12?

RF/DK in exact
amount

Then use Brackets: j27a_12,
j27b_12,j27c_12

ImAmM=YYY

ImAmM=0

ImAmM=0, YYY
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Group 3. Total debt houses/apartments

J28

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=1, Up=Max
ImMAm=YYY

Start=j25 12

|

No debt (1, .)

Response ImAm=0
l Debt (2-9)
Response Nothing (0) IMAM=0
toj26_12
# Nothing
NR/DK in exact
amount and
brackets (*) Response to Exact amount
< amount EEEE— ImAm=YYY
j28_12?

RF/DK in exact
amount

Then use Brackets: j29a_ 12,
j29b_12,j29c_12

ImMAmM=YYY
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Group 3. Gross value houses/apartments
J31 Start=j19_12

|

Rent(1)
Response ImAmM=0
l No rent (2-9)
NR (8) / DK (9) Response Othes (6, 7) S
¢ t0j22_12
Mixed
imputation Property (1-5)
Then —>  ImAm=0
LOY':O’ NR/DK in exact
Up=Max amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————> ImAm=YYY
i ImAm=YYY j31_12?
ImAmM=YYY
RF/DK in exact
amount
Then use Brackets: j32a_ 12,
j32b_12,j32c_12
* Inclued 8,88,888 etc, ImAm=YYY

9,99,999 etc
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Group 3. Net value other
houses/apartments
J34

Start=j33 12

NR (8) / DK (9)
\L Response
Mixed
imputation Yes(1)
Then —>  ImAm=0
ULOY':O’ NR/DK in exact
p=Max amount and
Then brackets (*) Response to
Low=1, Up=Max < amount
i ImAm=YYY j34_12?
ImAmM=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: j35a_12,
j35b_12, j35c_12

ImAmM=YYY

No(2) N

Exact amount
—>

ImAmM=0

ImAm=YYY
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Group 3. Total debt business-1

K4 1 Start=k1_12
NR (8) /DK (9
(8) / DK (9) No(2)
Response ImAmM=0
l/Yes (1)
Then
NR (8) / DK (9 !
(8) /DK (9) k3.1 12 No(2 ) IMmAm=0
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————> ImMAmM=YYY
ImAmM=YYY ImAmM=YYY k4_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: k5al 12,

k5b1 12, k5c1_12

ImMAmM=YYY
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Group 3. Total debt business-2
Ka_2 Start=k1_12

|

No(2,8,9)
Response ImAmM=0
l/Yes (1)
J/ Then
NR (8) / DK (9 ! .
(8) /DK (9) k3.2 12 No(2,.) IMmAm=0
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————> ImMAmM=YYY
ImAm=YYY ImAm=YYY k4 2 12?
RF/DK in exact
amount
Then use Brackets: k5a2_12,
k5b2_12, k5¢c2_12
* Inclued 8,88,888 etc, ImAm=YYY

9,99,999 etc
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Group 3. Gross value basiness-1

KS 1 Start=k1_12
NR (8) / DK (9
(8) / DK (9) No(2)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImMAmM=YYY ImAmM=YYY k8_1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: k9al 12,
k9bl_ 12, k9c1_12

ImMAmM=YYY

ImAmM=0

ImAmM=0, YYY
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Group 3. Gross value business-2
K8 2

Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max
l/ Then
Low=1, Up=Max
ImAmM=YYY ImAm=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

Start=k1_12

|

No(2,8,9)
Response ImAmM=0
\L Yes (1)
Then,
kla_12 (2) ImAm=0
Response
(2)
NR/DK in exact
amount and
brackets (*) Response to Exact amount
< amount ——>) ImAm=0, YYY
k8_2_12?

RF/DK in exact
amount

Then use Brackets: k9a2_12,
k9b2_12, k9c2_12

ImMAmM=YYY
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Group 3. Total debt other real

estate properties-1

Start=k17_12

K20_1 i
NR (8) / DK (9
(8) / DK (9) No(2)
Response
l/Yes (1)
Then
NR (8) / DK (9 !
(8) / DK (9) K19 1 12 No(2)
_ Response
Mixed
imputation
Then —>  ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k20 1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k21a1_12, k21b1_12,
k21c1_12

ImAm=YYY

ImAmM=0

ImMAmM=0

ImMAmM=YYY
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Group 3. Total debt other real

estate properties-2

Start=k17_12

K20 2 T
No(2,8,9)
Response ImAmM=0
l/Yes (1)
J/ Then
NR (8) / DK (9 ! .
(8) /DK (9) k19 2 12 No(2,.) IMmAm=0
_ Response
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max Yes (1)
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————> ImMAmM=YYY
ImAm=YYY ImAm=YYY k20 2 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k28a2_12, k28b2_12,
k28c2_12

ImAm=YYY
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Group 3. Gross value other real

estate properties-1

Start=k17_12

K24 1 L
NR (8) / DK (9
(8) / DK (9) No(2)
Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max < amount ——————>
ImMAmM=YYY ImAmM=YYY k24 _1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k25a1_12, k25b1_12,
k25c1_12

ImAm=YYY

ImAmM=0

ImMAmM=YYY
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Group 3. Gross value other real

estate
K24 2

properties-2

Inclued 8,88,888 etc,
9,99,999 etc

Then
Low=1, Up=Max
ImMAm=YYY

Start=k17_12

|

No(2,8,9)
Response ImAm=0
\L Yes (1)
Then,
kl7a_12 (2) ImAm=0
Response
(1)
NR/DK in exact
amount and
brackets (*) Response to Exact amount
< amount EEEE— ImAm=YYY
k24 2 12?

RF/DK in exact
amount

Then use Brackets:
k25a2_12, k25b2_12,
k25c2_12

ImMAmM=YYY
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Group 3. Net value capital assets-1

K33 1-3 Start=k31a_12
Ex. K33 1 i
NR (8) / DK (9
(8) / DK (9) No(2)
Response
Mixed Yes (1)
imputation
Then —>  ImAm=0
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAm=YYY ImAm=YYY k33 1 12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k34a1_12, k34b1_12,
k34cl1_12

ImAm=YYY

ImAmM=0

ImMAmM=YYY
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Group 3. Total debt vehicles
K40

Start=k38 12

|

NR (8) / DK (9) No (2)
Response ImAmM=0
\L Yes (1)
NR (8) / DK (9) Then, (2)
k39 12 ImAm=0
Response
Mixed
imputation
Then —> ImAm=0
Low=0, (1)
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————> ImAm=YYY
ImAmM=YYY ImAmM=YYY k40_12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: k41a_12,
k41b_12, k41lc_12

ImMAmM=YYY
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Group 3. Gloss value vehicles

K42

Start=k38 12

|

NR (8) / DK (9
(8) / DK (9) No(2)
Response
Yes (1)
Mixed
imputation
Then —>  ImAm=0
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImMAmM=YYY ImAmM=YYY k42_12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: k43a_12,
k43b_12, k43c_12

ImMAmM=YYY

ImAmM=0

ImMAmM=YYY
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Group 3. Net value other assets
K44

Then
Low=0, Up=Max
ImMAm=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

NR/DK in exact

amount and Start
brackets (*) ar Exact amount
< Response to >

amount

ka4 _12?

RF/DK in exact
amount

Then use Brackets: k45a_12,
k45b_12, k45c_12

ImMAmM=YYY

ImAmM=0, YYY
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Group 3. Net valoue other assets

K86

Start=k85_12

|

NR (8) / DK (9
(8) / DK (9) No(2)
Response
Yes (1)
Mixed
imputation
Then —>  ImAm=0
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImMAmM=YYY ImAmM=YYY k86_127?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: k87a_12,
k87b_12, k87c_12

ImMAmM=YYY

ImAmM=0

ImMAmM=YYY
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Group 3. Total cost household
consumption
K88

Then
Low=1, Up=Max
ImMAm=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

NR/DK in exact

amount and St
brackets (*) art Exact amount
P Response to —_—
amount
k88_12?

RF/DK in exact\l/
amount

Then use Brackets: k89a_12,
k89b_12, k89c_12

ImMAmM=YYY

ImMAmM=YYY
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Group 4. Hospitalizations and other
utilization of services.
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Group 4. Total hospitalization cost
D6 Start=d4_12

|

NR (888) / DK (999
(888) / DK (999) No (0)
Response ImAmM=0
Yes (>0 and <888 )
Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————> ImAm=0, YYY
ImAm=YYY ImAmM=YYY d6_12?
RF/DK in exact
amount
Then use Brackets: d7a_12,
d7b_12,d7c_12
* Inclued 8,88,888 etc, ImAm=YYY

9,99,999 etc
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Group 4. Total services costs
D9 _1-4 Start=d8 1 12

|
No(0)

Response ImAmM=0

Yes(>0)

NR/DK in exact

amount and Exact amount
Then brackets (*)
Low=0, Up=Max ImAm=0, YYY
ImAmM=YYY Response
to amount
do_1 12?

RF/DK in exact

amount
Payment in kin

Then use Brackets: d10a_12, (777777)

d10b_12, d10c_12 LOW_I“S;_MaX
* Inclued 8,88,888 etc, IMAMZYYY ImAM=YYY

9,99,999 etc



Group 4. Medications costs
D12a

NR/DK in exact

amount and
Then brackets (*) Exact amount
Low=0, Up=Max < ImAm=0, YYY
ImAm=YYY Start

Response
to amount
d12a_12?

RF/DK in exact

amount

h Bracket Payment in kin
en use brackets:
d12b_a_12, d12b_b_12, (777777) Then
di12b_c_12 Low=1, Up=Max
ImAm=YYY

ImMAmM=YYY

* Inclued 8,88,888 etc,
9,99,999 etc
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Group 4. Total hospitalization costs —
Next of kin Start=sd3_12

SD5 L
NR (888) / DK (999)

No(0)
Response ImAmM=0

Yes (>0 and <888 )

Mixed
imputation
Then —> ImAm=0
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=0, Up=Max < amount ——————> ImAm=0, YYY
ImAmM=YYY ImAm=YYY sd5_12?
RF/DK in exact
amount
Then use Brackets: sd6a_12,
sdéb_12, sd6c_12
* Inclued 8,88,888 etc, ImAm=YYY

9,99,999 etc
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Group 4. Medical visits pay in —kind

SD8

Next of kin Start=sd7_1 12

|
No(0)

Response ImAmM=0

Yes(>0)

NR/DK in exact

amount and

Then brackets (*)
Low=0, Up=Max ImAm=0, YYY

ImAm=YYY Response
to amount

sd8_1_12?

Exact amount

RF/DK in exact
amount
Payment in kin
Then use Brackets: sd9a_12, (777777) Then
sd9b_12, sd9c_12
Low=1, Up=Max

Inclued 8,88,888 etc, IMAMZYYY ImAM=YYY
9,99,999 etc
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Group 4. Medications costs —
Next of kin
SD10a

NR/DK in exact

amount and
Then brackets (*) Exact amount
Low=0, Up=Max < ImAm=0, YYY
ImAm=YYY Start
Response
to amount
sd10a_127?

RF/DK in exact
amount

Payment in kin
Then use Brackets:

sd10b1_12, sd10b2_12, (777777) Then
sd10b3_12 Low=1, Up=Max
ImAmM=YYY

ImMAmM=YYY

* Inclued 8,88,888 etc,
9,99,999 etc
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Group 5. Household Monthly Rent
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Group 5. Household monthly rent
J20

Then
Low=1, Up=Max
ImMAm=YYY

Start=j19 12

|

No rented (2-9)

Response

Rented (1)

Response to
amount
j20_12?

Exact amount
>

No brackets
%

RF/DK in exact
amount

Then use Brackets: j21a_12,
j21b_12,j21c_12

ImAmM=YYY

ImAmM=0

ImMAmM=YYY
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Group 6. Pensions Income
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Group 6. Pensions income before death
K101

Start=k98 12

|

Response

l Go (1,2,3,8,9)

NR (8) / DK (9) k100 12 No(1,4,5)
\L Response
Mixed
imputation
Then —>  ImAm=0 Yes (2,3)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImAm=YYY ImAmM=YYY k101_12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k102a_12, k102b_12,
k102c_12

ImAm=YYY

NOT impute

ImMAm=0

ImMAmM=YYY
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Group 6. Pensions income after death
K103

Start=k98 12

|

Response

l Go (1,2,3,8,9)

NR (8) / DK (9) k100 12 No(4,5)
\L Response
Mixed
imputation
Then —> ImAm=0 Yes (1,2,3)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=0, Up=Max S SE— amount ——————>
ImAm=YYY ImAmM=YYY k103_12?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets:
k104a_12, k104b_12,
k104c_12

ImAm=YYY

NOT impute

ImMAm=0

ImAmM=0,YYY
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Group 6. Death exoebdutyres
K111

Then

Low=0, Up=Max

ImMAm=YYY

* Inclued 8,88,888 etc,
9,99,999 etc

Start=k98 12

|

Response

Go (1,2,3,8,9)

NR/DK in exact

amount and
brackets (*) Response to Exact amount
< amount —>
k111 12?

RF/DK in exact
amount

Then use Brackets:
k112a_12, k112b 12,
k112c_12

ImMAmM=YYY

NOT impute

ImAmM=0,YYY
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Group 7. Help Given
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Group 7. Help given.

G8b1
Start=g7_12
No (2,.)
NR (8) / DK (9) Response to
receives source
J/ of income
Mixed
imputation Yes (1)
Then ——=  ImAm=0
Low=0,
Up=Max
RF/DK in exact
; amount and Response to Exact amount:
LG brackets amount
Low=1, Up=Max 8b1 2 12
ImAM=YYY 8L
monthly?
ImMAmM=YYY

RF/DK in exact amount

Then use Brackets
g9al 12,g9b1 12

ImAmM=YYY

ImAmM=0

ImMAmM=YYY
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Group 7. Help given.

G8b2 — G8b7 Start= g7 12

J

Response to No(2,8,9.)
receives source ImAm=0
of income

Yes (1)

NR/DK in exact
amount and brackets

Then (*) Response Exact amount:
Low=1, Up=Max to amount ImAm=YYY
ImAmM=YYY g8b2_2_12
To

g8b7_2 12
monthly?

RF/DK in exact Missing ( .)

amount

Then use Brackets
g9a2_ 12 tog9%a7_12, ImAm=0
g9b2 12 tog9b2 12

* Inclued 8,88,888 etc,
9,99,999 etc

ImAmM=YYY
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Group 8. Economic Help
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Group 8. Economic Help to Parents
F41

Start=f40_12

Go (1,2,8,9)
NR (8) / DK (9) f40_12 No(2,.)
\L Response
Mixed
imputation
Then —>  ImAm=0 Yes (1)
Low=0,
Up=Max
NR/DK in exact
l/ amount and
Then brackets (*) Response to Exact amount
Low=1, Up=Max S SE— amount ——————>
ImMAmM=YYY ImAmM=YYY f41_127?

* Inclued 8,88,888 etc,
9,99,999 etc

RF/DK in exact
amount

Then use Brackets: f42a_12,
f42b_12, f42c_12

ImAmM=YYY

ImMAm=0

ImMAmM=YYY
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